S

Structural Bolt Assemblies - Hot Dip Galvanized

Capscrew Hex Nut PalNut Assembly
Description Part No. Weight Part No. Part No. Part No. Weight
1/2x1-1/4 210017G 12/100 230013 230011 210017GA 21/100
5/8 x2 1/2x1-1/2 210018G 13/100 | 230013 | 230011 | 210018GA 22/100
1/2x1-3/4 210019G 15/100 230013 230011 210019GA 24/100
1/2x 2 210020G 16/100 230013 230011 210020GA 25/100
5/8x1-1/2 210029G 21/100 230018 230017 210029GA 34/100
= 5/8x1-3/4 210030G 36/100 230018 230017 210030GA 36/100
g =1 5/8 x 2 210031G 25/100 230018 2320017| 210031GA 38/100
Assembly includes bolt, 5/8x2-1/4 210032G 29/100 230029 230017 210032GA 42/100
hex nut and pal nut 5/8 x2-1/2 210033G 30/100 | 230018 | 230017 | 210033GA 43/100
5/8x3-1/4 210072G 32/100 230018 230017 210072GA 45/100
3/4x1-3/4 210046G 38/100 230020 230021 210046GA 58/100
3/4x2 210047G 41/100 230020 230021 210047GA 61/100
3/4x2-1/4 210048G 42/100 230020 230021 210048GA 62/100
3/4x2-1/2 210049G 46/100 230020 230021 210049GA 66/100
3/4x2-3/4 210050G 50/100 230020 230021 210050GA 70/100
3/4x4-1/2 210057G 71/100 230020 230021 210057GA 91/100
3/4x5 210058G 74/100 230020 230021 210058GA 94/100
3/4x51/2 210059G 84/100 230020 230021 210059GA 104/100
7/8x2-1/4 210061G 62/100 230062 230025 210061GA 94/100
7/8x3-1/2 210063G 81/100 230026 230025 210063GA 113/100
r 1x4-1/4 210069G 127/100 | 230030 230029 210069GA 172/100
E I 1x51/2 210070G 152/100 | 230030 230029 210070GA 197/100
G 1x5-3/4 210164G 159/100 | 230030 230029 210164GA 204/100
@
O
A5
Ny 4 Base Bolt - Hot Dip Galvanized
Description Part Number Weight
1/2" x 12" + 2" (Hook) 1/2x12BB 1/2 ea.
Includes basebolt 5/8" x 12" + 3" (Hook) 5/8X12BB 1 ea.
and two hex nuts 3/4" x 16" + 3" (Hook) 3/4X16BB 1-1/2 ea.
\ Step Bolt - Hot Dip Galvanized
Description Part Number Weight
. *\( 5/8 x 6-1/2 (2-1/2" thread |ength 210042G 84/100
w&"’\:{;\\\\\\ Same as above - includes 2 hex nuts 5/8STEP 108/100
o @\\
\W
J Bolt - Hot Dip Galvanized
Description
A B ¢ D Part No. Weight
C 3/8| 5/8 | 4 2-5/8 JA4AA 16/100
3/8| 5/8 | 5-11/16| 2-3/4 J51A 23/100
3/8| 5/8 | 6-13/16| 2-1/2 JI07A 35/100
J 3/8| 3/4 | 2 1-1/2 J167A 10/100

331 HA-2



